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P= 10 kPa P2= 1200kPa P3 = 1200kPa Pr 1200kPa Ps= 7MP Po= 4 MPa P= 1200kPa Pg= 10 kPa

hi 191 .8148 he 193 .81"Yg hy= 798.
6YKg h4= 344

.
41 Y g Us= 347

.2 Yg T = 500%C h+ 30797
*Yg h)= 2746"Ykg

Vi =
.

00161
*Yg Vi . 001 Mg hy= 3445

.4"

5. 7
.

1 g . 17

& ↑ A ↑

upump
= V

, (P2- P1) Wp = h
, - hz M3H3 + M2H2 = Myky WpI= Vy(Ps - P4)

=> 1 . 202"Ykg => 28kYkg M= 4M7 - SS = 4M7

Us = hy + WpE My = 13
. 75k9/s

W
+LRB

= Ma (h6 - hz) + my(no hs) +> 13 .75(3445.4 - 3079
. 7) + (ss- 13 . 75)(3445 .4 - 2246) - = 54

,
503

. 63kW a) 54
,
503

.
6kl

Whet = 54
, 503

. 63 - 203. 58 = 54, 300 ke b) Eu = 502

Whet + Q4 54,
583 + 31365 . 13

-
Qin = Ms(ho- hs) -> ss(3445.

4 - 347
.
21) => 170

,
400

.
S1kh En =

- =

170,
400 . Sh

=>
En= .

Sol
Qin -

Qp = M+ (h7 - hs) -> 13.79(3079 . 7 - 798. 6) => 31
,

365 . 13kW
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P= 10kPa P2= 1
. 6MPa Pz= 1 .6 MP a Py= 1

. GMPa Ps= 9 MPa Ps= 9 MPa P= 1. 6MPa Pg= 18kPa Pg= 1 .
6 MPa

T= 45. 81 ° C hi= 193
.

42
g he= 857

.99 hu857.99 *g hs= 866 .
57"

g Tj= 400 ° C 47= 2729 . 44k3/g 586.

29
g . K ha= 857. 99

*Y

4
,
= 191 .81/kg Up=

.

00115a*lg ho= 3118
.

8"g he= 1990.39 Ta= 201 . 3
°

C

v =. 00101 kg 56 = 6
.

29g . K

↑ = by+ Wy(Ps - Pu)

*= Best
t

↑
h2= h

,
+ V

,
(P2-P

, )

2500kl h= hfq + Xzhagf 48 = hfg + Xghfgg

↓

Wnex = m + (no- 47) + (1 -y)(ha - h8) - (1 - y)(nz- h) - (ns- hu) - M +
389 . 36 +

.
65 x 739 . 17 -

.
65 x 1 .

61 - SSB
= m += 29

.
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